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EALEIIR—: ZVZHAIMAP

EEarr = (1, 2, 4]
Eearr = [1, 2, 4]

let brr = arr.map {
"No." + String($0)
}

& brr = ["No.1", "No.2", "No.4™%



EANEDIR 0 ZUZHAYFLATMAP

Eearr = [[1, 2, 3], [6, 5, 4%
let brr = arr.flatMap {

$0
}

Ee—rr = [1, 2, 3, 6, 5, 4]
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e re: [Int?] = [1, 2, nil, 4, niEEsi
let brr = arr.flatMap { $0 }
g = (1, 2, 4, 5]



HIEEIIE = OPTIONALBIMAP

let al: Int? = 3
let bl = al.map{ $0 x 2 }
// bl = 6

let a2: Int? = nil
let b2 = a2.map{ $0 x 2 }
// b2 = nil



HAEEDIRP0: OPTIONALBIFLATMAP

fetisi String? = "abc"

let v = s.flatMap { (a: String) —> Int? in
return Int(a)

}
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e s =SNG 2
let sl1l: String?

nil
"abC"
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public enum Optional<Wrapped> :
_Reflectable, NilLiteralConvertible {
case None
case Some(Wrapped)

@available(x, unavailable, renamed="Wrapped")
public typealias T = Wrapped

Jgy Construct a nil instance.
@_transparent
public init() { self = .None }

/// Construct a non- nil instance that stores some .
@_transparent
public init(_ some: Wrapped) { self = .Some(some) }
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lleildorer = [1, 3, 2]

let brr = arr.map {
$0 % 2
} .map {
WihiEsals 1 + SERingesol
} .map {
$0.uppercaseString
}
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Let tg: Int? =1
let b = tg.map {
$0 % 2
}.map {
"abc" + String($0)
}
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TTRequest *reql = [TTRequest requestWithUrlString:@"urll"];
[reql startWithCompletionBlockWithSuccess:A(__kindof YTKBaseRequest *request) {
TTRequest *req2 = [TTRequest requestWithUrlString:[NSString stringWithFormat:@"%@", reql.result]];
[reqg2 startWithCompletionBlockWithSuccess:A(__kindof YTKBaseRequest *request) {
TTRequest *reqg3 = [TTRequest requestWithUrlString:[NSString stringWithFormat:@"%@",
reg2.result]];
[reg3 startWithCompletionBlockWithSuccess:A(__kindof YTKBaseRequest *request) {

)
} failure:A(__kindof YTKBaseRequest *request) {
[TTAlertUtils showAutoHideHint:@"MZZEEI1=z" inView:self.view];
5
} failure:A(__kindof YTKBaseRequest *request) {
[TTAlertUtils showAutoHideHint:@"NZZEI1=" inView:self.view];
5
t failure:A(__kindof YTKBaseRequest *request) {
[TTAlertUtils showAutoHideHint:@"RZ&EE1=x" inView:self.view];

+;
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OPTIONALIFZILE F

let tg: Int? = 1

==

L




[Elfelan =1 3. 2]
let tg: Int? = |
enum Result<T> {

case Success(T)
case Failure(ErrorType)
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1
2 let a : Int? =1
3let b=a+ 1\ O Value of optional type 'Int?' not unwrapped
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el Tnt?2 = 1
Vet bs Int?
if let a = a {

p="a ]
} else {
= nil
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let arr

let brr = arr.map {
(element: Int) —> Int in
return element *x 2



X EMAP

e = [1, 3, 2]

let brr = arr.map 1
({element: Int) —> Int jin
return element x 2
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let arr

let brr = arr.map 1
((element: Int) —> Int Jin

return element *x 2
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OPTIONAL B MAP

eeail s Int? = 3

let bl = al.mapi{ (e: Int) —> Int in
return e x 2

}



BEEE INT7 = 3 e

let bl = al.map{{(e: Int) —> Int jin
U o g D —

}
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Talk 1s cheap. Show me the code.

— Linus Torvalds
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public func map<T>(@noescape transform:
(Generator.Element) throws —> T)
rethrows —> [T] {
let count: Int
if count == 0
return []
s

numericCast(self.count)

var result = ContiguousArray<T>()
result.reserveCapacity(count)

var 1 = self.startIndex

for _ in @..<count {

result.append(try transform(self[i]))
1 = i.successor()

J

_expectEnd(i, self)
return Array(result)



public func map<T>(@noescape transform:
(Generator.Element) throws —> T)
rethrows —> [T] {
let count: Int
if count == 0 {
return []
I3

numericCast(self.count)

var result = ContiguousArray<T>()
result.reserveCapacity(count)

var 1 = self.startIndex

for in 0..<count {

result.append(try transform(self[il))
i = i.successor()

J

_expectEnd(i, self)
return Array(result)



public func map<T>(@noescape transform:
(Generator.Element) throws —-> T)
rethrows —> [T] {
let count: Int
if count == 0 {
return []
+

numericCast(self.count)

var result = ContiguousArray<T>()
result.reserveCapacity(count)

var 1 = self.startIndex

for __in @..<count {
( result.Jappend(try transform(self[i]))

: 1 = 1.su€!‘ii::()
HREFTEFH

_expectEnd(i, self)
return Array(result)
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public func map<U>(@noescape f: (Wrapped) throws —> U)
rethrows —> U? {
switch self {
case .Some(let y):
return .Some(try f(y))
case .None:
return .None
s



FIHES

public func map<U>(@noa@igape f: (Wrapped) throws —> U)
rethrows —> U? {
switch self {
case .Some@let yi}
return .Some(try f(y))
case .None:

return .None
¥




public func map<U>(@noa@igape f: (Wrapped) throws —> U)

rethrows —> U? {

switch self {
case Some(let yj)

return (.Some(try f(y)))

case .None:

return .None
¥
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e tg: Int? = 1
let b = tg.map { (a: Int) —> Int? in
RIS e == ()

return a
} else {
return Optional<Int>.None
}
}
i e R o R |

e ot na o)

J



SFNIENESLN] L

let tq: Int? =1 O
et = tq map { (a: Int) —>§Int?}in
lf 5 @ { N i
qfreturn a_J+
s else Elee :
return Optlona1<Int> None }
}
I3

e let oy ="h
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ape f: (Wrapped) throws —> U)

public func map<U=>(@no
rethrows —> U? {
switch self {
case Some@let yj)
return(;Some(try f(y)))
case .None:
return .None
I3




[EEEtgs Int? = 1

let b = tg.map { (a: Int) —> Int? in

N2 == 0 {

return a
} else {
return Optional<Int>.None
s
s
Isstet = b {
print("not nil")
s

public func map<U>(@noescape f:
(Wrapped) throws —> U)
rethrows — U? {
switch self {
case .Some(let y):
return .Some(try f(y))
case .None:
return .None
I3




[EEEtgs Int? = 1
let b = tg.map { (a: Int) —> Int? in
B % 2 == 0 {
return a
} else {
return Optional<Int>.None

¥
J
1f let e b {
print("not nilu)
J

public func map<U>(@noescape f: /
(Wrapped) throws —> U) Y
rethrows —> U? { S
switch self { &
case .Some(let y):
return .Some(try f(y))
case .None:
return .None
}




[EEEtgs Int? = 1
let b = tg.map { (a: Int) —> Int? in
e T2 == 0 {
return a
} else {
return Optional<Int>.None
s
s

isisslet ” = b 1
print("not nil")
I3

public func map<U>(@noescape f: / /
(Wrapped) throws —> U) " ey
rethrows —> U? { i
switch self { & ,
BEcERISomellel ) ™
return .Some(try f(y))
case .None:
return .None
)

f:self S Some(1l) 1




[EEEtgs Int? = 1

EeEmE=stg.map { (a: Int) —> Int? in| |, 12
| ,self BE, y I 1|

VEECEIAECE T

f,f?TOptional<Int>.None ;

if a %2 ==0 {
return a
} else {
return Optional<Int>.None
3 :
s

isftet " = b {
RS not nil")
s

Wfself /) Some(l) |

public func map<U>(@noescape f:’/;,’

(Wrapped) throws —> U)
rethrows —> U? { i
switch self { & ,
case .Some(let y):“*
return .Some(try f(y))
case .None:

return .None
b

S _g




[EEEtgs Int? = 1
let b = tg.map { (a:
if a %2 ==0 {
return a
} else {
return Optional<Int>.None
3 :
s

Efestes” = b {
print("not nil")
I3

Int) —> Int? in

self N Some (1) "
f self E, vy N 1 ‘v

| [rmmas, B8 |

| LY'floptional<Int>.None |

public func map<U>(@noescape f: / /
(Wrapped) throws —> U) ey
rethrows — U? { Ri
switch self { & ,
case .Some(let y):*
return .Some(try f(y))
case .None: R~
return .None®s.
I3

S _g

BN SSome s

; ﬂ%Optional<Int> .None |




[EEEtgs Int? = 1
let b = tg.map { (a: Int) —> Int? in
e T2 == 0 {
return a
y else {
return Optional<Int>.None
1 .
s

isisslet ” = b 1
print("not nil")
} X

Liself

public fgnc map<U>(@noescape f: / /
(Wrapped{‘throws —> U) 7 ,
rethrpws —> U? { ..
switch self { & ,

X g

casen.None: AN
refurn .None™.
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/) Some(l) |

, ﬂ%Optional<Int> .None
 fﬁQ%5.

&;return .Somg(try f(y)) /;”
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Optional<Int>.None
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[EEEtgs Int? = 1
let b = tg.map { (a
if a %2 ==0 {
return a
} else {
return Optional<Int>.None
3 :
s

Bl not nil")
} A8

Int) —> Int? in

uﬂiOptlonal<Int>.None :

public fgnc map<U>(@noescape f:
(Wrapped). throws —> U)
rethrows —> U? {
switch self {

};return
casex.None: N
refurn .None™

self 79 Some (1) "

Eﬁjﬂx"'f

;]f.,

;f? ﬂ%Optional<Int> .None |

I\ .Some HH

Some(try Gz

FZE Optlonal

/i let JUMAKIK |
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8 let tq: Int? =1 1
9 let b = tg.map { (a: Int) —> Int? in nil
10 if a % 2 ==0 {

11 return a

12 } else {

13 return Optional<Int>.None nil

14 }

15 }

117 let c: Int? ! ;;y nil

19 if let = c {

20 print("not nil")

21 } else {

22 print("nil") "nil\n"

23 }
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flatMap



RFmap e ik flatMap

et Int? = 1
let b = tg.flatMap { (a: Int) —> Int? in
iifitars 2 == 0 1

return a // return Some(a)
} else {
return nil // return .None
+
s
isliet . = b {

pRinECEnet nil)

}
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Talk 1s cheap. Show me the code.

— Linus Torvalds




OPTIONALRJFLATMAP

public func flatMap<U>(@noescape f: (Wrapped) throws —> U?)
rethrows —> U? {
switch self {
case .Some(let y):
return try f(y)
case .None:
return .None
¥



OPTIONALRJFLATMAP

Llape f: (Wrapped) throws —> U?)
switch self {

case .Some(let y)::)
return try f(y)
case .None:
return .None
I3

public func flatMap<U>(@n




OPTIONALRJFLATMAP

ape f: (Wrapped) throws —> U?)

public func flatMap<U>(@n
rethrows —> U? {
switch self {

case .Some(let y)

return(try f( y)

case .None:
return .None
}
s

BiREFEF
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public func map<U>(@noescape f: (Wrapped) throws —> U)
rethrows —> U? {
switch self A
case .Some(let y):

return(.Some(try f(y)))
E N EREL IR [EIRIZE1E,

case .None:
return .None

} FIAEEREIZEFH,

f

public func flatMap<U>(@noescape f: (Wrapped) throws —> U?)
rethrows —> U? {
switch self A
case .Some(let y):
return(try f(y) )
case .None:

return .None K NEE f ELRENESF,
; FIAMABIEENEIFIEFF 7T,




LB BOFLATMAP

public func flatMap<T>(
@noescape transform: (${GElement}) throws —> T?
) rethrows —> [T] {
var result: [T] = []
for element in self A
if let newElement = try transform(element) A
result.append(newElement)
I3

}

return result



LB BOFLATMAP

FIHES

> (
rm: (${GElement}) throws -> T7?

public func flatMap
@noescape tran
) rethrows —> Pr] {
var result: [T] = []
for(element )in self {
if let newElement = try transform(element) A
result.append(newElement)
}

}

return result
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FIHES

transform R ZX

BREMNERER—TE

> (
rm: (${GElement}) throfls —> T7?

public func flatMap
@noescape tran
) rethrows —> Pr] {
var result: [T] = []
for(element )in self {
if let newElement = try( transform(element)) {
result.append(newElement)
I3

}

return result
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transformX| %

BREINERER—TEF

> (
rm: (${GElement}) throl§s —> T7?

public func flatMap
@noescape tran
) rethrows —> Pr] {
var result: [T] = []
for(element )in self {
if( let newElement)= try( transform(element)) {
result.append(newElement)

s
¥
return result

SFRIFTHA, AEREIZ—TEFH



FLARIFLATMAP ()

public func flatMap<S : SequenceType>(
transform: (${GElement}) throws —> S
) rethrows —> [S.${GElement}] {
var result: [S.${GElement}] = []
for element in self {
result.appendContentsOf(try transform(element))
s

return result



MZABIFLATMAP ()

fIHES

: SequenceType>(
ement}) throws —> S
) rethrows —> . 5{GElement}] {
var result: [S.${GElement}] = []
for(element )in self {
result.appendContentsOf(try transform(element))
s

return result

public func flatMap
transform: (${
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transform PR £X

BRENERES—TE

public func flatMap<# : SequenceType>(
transform: (${@Mlement}) throws —> S
) rethrows —> . ${GElement}] {
var result: [S.${GElement}] = []
for(element )in self {
result.appendContentsOf(try transform(element))
s

return result
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BRENERES—TE

public func flatMap<# : SequenceType>(
transform: (${@Mlement}) throws —> S
) rethrows —> . ${GElement}] {
var result: [S.${GElement}] = []
for(element )in self {
result.appendContentsOf(try transform(element))

b
return result *
¥
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APPLICATIVE

extension Optional A
func apply<U>(f: (T —> U)?) — U? {
switch T {
case .Some(let someF): return self.map(someF)
case .None: return .None

}



APPLICATIVE

extension Optional A
func apply<U>(f: (T —> U)?) —> U? {
switch T {
case .Some(let someF): return self.map(someF)
case .None: return .None

}




APPLICATIVE

extension Array {
func apply<U>(fs: [Element —-> U]) — [U] {
var result = [U]()
ol i in fs i
for element in self.map(f) {
result.append(element)
I3

}

return result



APPLICATIVE

extension Array {
func apply<U>(fs: [Element —> U]) —> [U] {
var result = [U]()
ol i in fs i
for element in self.map(f) {
result.append(element)
I3

}

return result
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* Promise



REACTIVECOCOA

extension SignalType A

public func flatMap<U>(strategy: FlattenStrategy,
transform: Value —> SignalProducer<U, Error>)
—> Signal<U, Error> {
return map(transform).flatten(strategy)

}

public func flatMap<U>(strategy: FlattenStrategy,
transform: Value —> Signal<U, Error>)
—> Signal<U, Error> {
return map(transform).flatten(strategy)



REACTIVECOCOA

transform X%

BREINGERZESR—TE

extension SignalType { ’//
public func flatMap<U>(strategyf FlattenStrateqy,
transform{ Value —> SignalProducer<U, Error>))
—> Signal<U, Error> {
return map(transform).flatten(strategy)

}

public func flatMap<U>(strategy: FlattenStrategy,
transform{ Value —> Signal<U, Error>) )

—> Signal<U, Error>,{
return map(t ra/fo rm) . flatten(strateqgy)

transformX %

BEINERER—TE



PROMISE

- (void)setupApi {
TTRequest *reql = [TTRequest requestWithUrlString:@"urll"];
reql.promise.then(A(id res) {

return [TTRequest requestWithUrlString:[NSString stringWithFormat:@"%@", res]].promise;
1) .then(A(id resl, id res2){

return [TTRequest requestWithUrlString:[NSString stringWithFormat:@"%@", resl]].promise;
1) .catch(n{

[TTAlertUtils showSimpleAlertView:@"M#E5&1R"];
1



PROMISE

7 BLR B2 — T HTEY
promisel R (&)

- (void)setupApi {
TTRequest *reql = [TTRequest requestWithUrlString:@"urll"];

reql.promise.then(A(id res) {
retur stWithUrlString: [NSString stringWithFormat:@"%@", resij.promisei)

1) .then(A(id resl, id res?2)
return [ITRequest requestWithUrlString:[NSString stringWithFormat:@"%@", resl]].promise;

}).catch(A{
[TTAlertUtilS®MhowSimpleAlertView:@"W&REI1R"];

i
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